Math 2E Last Quiz Afternoon - June 2nd

Please write your name and ID on the front.

Show all of your work, and simplify all vour answers. *There is a qumtmn on thc back side.
1. Compute [[z(2°+ y*)dS where S consists of the hemisphere 72 + 32 + 22 = 4 where 2l
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and the disk 2 +y? <4 at z = 0 (like it is sealing off the hemisphere). ‘5“
Hint: Break up S into two pieces, the hemisphere and disk. ﬁ'ﬁ‘a‘ﬂ
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2 Compute [ F-dS where F(z,4,2) = < 0, y, —z > and S consists of the paraboloid
2

y=1a’+22—1from -1 < y < 0, and the disk 2° + 22 < 1 at y = 0 (hike sealing off the paraboloid).
Assume positive orientation - the normal points outwards.
Hint: Notice S is the graph of two functions - split .S into the paraboloid and the disk.

It may help with some computations. (’] T
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